Contract No:DH00316

WBS No:17BP.8.R.138

County:Richmond

Replacement of Bridge No. 760007 on SR 1608 (Boyd Lake Rd.)

				EACTEDNI CT	RUCTURES LLC		ON ARTHUR ISION	SMITH-RO	OWE LLC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$21,300.00	\$21,300.00	\$35,000.00	\$35,000.00		\$23,100.00
2	Type II Modified Approach Fill, Sta 13+26.30 -L-	1.00	LS	\$8,000.00	\$8,000.00	\$9,200.00	\$9,200.00	\$7,000.00	\$7,000.00
_	Grading	1.00	LS	\$30,000.00	\$30,000.00		\$55,000.00	,	\$77,280.00
4	Supplemental Clearing & Grubbing	1.00	ACR	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
5	Geotextile for Soil Stabilization	300.00	SY	\$2.50	\$750.00	\$2.50	\$750.00	\$1.00	\$300.00
6	Foundation Conditioning Material, Minor Structures	10.00	TON	\$30.00	\$300.00	\$20.00	\$200.00	\$1.00	\$10.00
7	Foundation Conditioning Geotextile	20.00	SY	\$2.50	\$50.00	\$2.50	\$50.00	\$1.00	\$20.00
8	15" RC Pipe Culverts, III	32.00	LF	\$50.00	\$1,600.00	\$35.00	\$1,120.00	\$50.00	\$1,600.00
9	Shallow Undercut	100.00	CY	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$16.00	\$1,600.00
10	Class IV Subgrade Stabilization	190.00	TON	\$20.00	\$3,800.00	\$25.00	\$4,750.00	\$35.00	\$6,650.00
11	Incidental Stone Base	25.00	TON	\$35.00	\$875.00	\$25.00	\$625.00	\$35.00	\$875.00
12	Incidental Milling	180.00	SY	\$25.00	\$4,500.00	\$12.00	\$2,160.00	\$8.00	\$1,440.00
13	Asphalt Conc Base Course, Type B25.0C	200.00	TON	\$103.00	\$20,600.00	\$87.00	\$17,400.00	\$87.00	\$17,400.00
14	Asphalt Conc Intermediate Course Type I19.0C	190.00	TON	\$105.00	\$19,950.00	\$89.00	\$16,910.00	\$89.00	\$16,910.00
15	Asphalt Conc Surface Course Type S9.5B	200.00	TON	\$144.00	\$28,800.00	\$129.00	\$25,800.00	\$129.00	\$25,800.00
16	Asphalt Binder For Plant Mix	30.00	TON	\$10.00	\$300.00	\$1.00	\$30.00	\$1.00	\$30.00
17	Right-of-Way Markers	9.00	EA	\$170.00	\$1,530.00	\$200.00	\$1,800.00	\$200.00	\$1,800.00
18	Masonary Drainage Structures	2.00	EA	\$1,450.00	\$2,900.00	\$1,800.00	\$3,600.00	\$1,600.00	\$3,200.00
19	Frame with Two Grates, Std 840.29	2.00	EA	\$550.00	\$1,100.00	\$550.00	\$1,100.00	\$425.00	\$850.00
20	Shoulder Berm Gutter	56.00	LF	\$45.00	\$2,520.00	\$45.00	\$2,520.00	\$75.00	\$4,200.00
21	Steel Beam Guardrail	25.00	LF	\$15.00	\$375.00	\$14.50	\$362.50	\$15.00	\$375.00
22	Additional Guardrail Posts	5.00	EA	\$10.00	\$50.00	\$1.00	\$5.00	\$1.00	\$5.00
23	Guardrail Anchors, Type III	4.00	EA	\$1,800.00	\$7,200.00	\$1,700.00	\$6,800.00	\$1,500.00	\$6,000.00
24	Guardrail Anchors, Type GREU TL-3	4.00	EA	\$2,800.00	\$11,200.00	\$2,500.00	\$10,000.00	\$2,700.00	\$10,800.00
25	Rip Rap, Class II	10.00	TON	\$55.00	\$550.00	\$50.00	\$500.00	\$60.00	\$600.00
26	Rip Rap, Class B	5.00	TON	\$45.00	\$225.00	\$40.00	\$200.00	\$75.00	\$375.00
27	Geotextile for Drainage	200.00	SY	\$2.50	\$500.00	\$2.50	\$500.00	\$2.00	\$400.00
28	Temporary Traffic Control	1.00	LS	\$6,200.00	\$6,200.00	\$3,180.00	\$3,180.00	\$5,800.00	\$5,800.00
29	Paint Pavement Marking Lines (4")	5,000.00	LF	\$0.80	\$4,000.00	\$0.75	\$3,750.00	\$0.75	\$3,750.00
30	Permanent Raised Pavement Markers	8.00	EA	Bid_Tab\$15.00	\$120.00	\$10.00	\$80.00	\$10.00 _F	age 1 of 15 \$80.00

				EACTEDNICTI	RUCTURES LLC		N ARTHUR	SMITH-ROWE, LLC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	ISION AMOUNT BID	UNIT PRICE	AMOUNT BID
31	Temporary Silt Fence	695.00	LF	\$3.00	\$2,085.00	\$2.50	\$1,737.50		\$1,390.00
-	Stone for Erosion Control, Class A	60.00	TON	\$10.00	\$600.00	\$1.00	\$60.00		\$60.00
	Stone for Erosion Control, Class B	400.00	TON	\$1.00	\$400.00	\$1.00	\$400.00	·	\$400.00
	Sediment Control Stone	125.00	TON	\$10.00	\$1,250.00	\$35.00	\$4,375.00		\$125.00
35	Temporary Mulching	0.50	ACR	\$800.00	\$400.00	\$1,000.00	\$500.00	·	\$100.00
	Seed for Temporary Seeding	100.00	LB	\$3.00	\$300.00	\$1.00	\$100.00		\$170.00
	Fertilizer for Temporary Seeding	0.50	TON	\$1,000.00	\$500.00	\$100.00	\$50.00		\$200.00
	Temporary Slope Drains	200.00	LF	\$4.00	\$800.00	\$4.00	\$800.00		\$2.00
	Safety Fence	200.00	LF	\$3.00	\$600.00	\$2.50	\$500.00	· · · · · · · · · · · · · · · · · · ·	\$400.00
	Silt Excavation	310.00	CY	\$4.00	\$1,240.00	\$1.00	\$310.00	·	\$3.10
	Matting for Erosion Control	2,550.00	SY	\$0.10	\$255.00	\$2.00	\$5,100.00		\$2,550.00
	Coir Fiber Mat	100.00	SY	\$6.00	\$600.00	\$6.00	\$600.00		\$350.00
	1/4" Hardware Cloth	120.00	LF	\$5.00	\$600.00	\$6.50	\$780.00		\$270.00
	Floating Turbidity Curtain	125.00	SY	\$20.00	\$2,500.00	\$35.00	\$4,375.00	·	\$500.00
	Wattle	80.00	LF	\$10.00	\$800.00	\$8.00	\$640.00		\$480.00
	Polycrylamide (PAM)	65.00	LB	\$10.00	\$650.00	\$10.00	\$650.00	·	\$0.65
_ 	Seeding & Mulching	0.50	ACR	\$2,000.00	\$1,000.00	\$2,000.00	\$1,000.00	·	\$2,000.00
	Mowing	0.50	ACR	\$200.00	\$100.00	\$2.00	\$1.00	. ,	\$37.50
-	Seed for Repair Seeding	50.00	LB	\$3.00	\$150.00	\$1.00	\$50.00		\$85.00
	Fertilizer for Repair Seeding	0.25	TON	\$1,000.00	\$250.00	\$100.00	\$25.00		\$100.00
	Seed for Supplemental Seeding	50.00	LB	\$1.00	\$50.00	\$1.00	\$50.00		\$50.00
	Fertilizer Topdressing	0.50	TON	\$750.00	\$375.00	\$100.00	\$50.00	\$400.00	\$200.00
53	Specialized Hand Mowing	10.00	MHR	\$20.00	\$200.00	\$1.00	\$10.00	\$11.00	\$110.00
	Response for Erosion Control	9.00	EA	\$1.00	\$9.00	\$100.00	\$900.00	\$1.00	\$9.00
55	Concrete Washout Structure	2.00	EA	\$450.00	\$900.00	\$250.00	\$500.00	\$400.00	\$800.00
30	Removal of Existing Structure at Station 13+26.30 - L-	1.00	LS	\$33,500.00	\$33,500.00	\$15,000.00	\$15,000.00	\$28,450.00	\$28,450.00
57	Asbestos Assessment	1.00	LS	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00	\$950.00	\$950.00
58	PDA Testing	1.00	EA	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$3,100.00	\$3,100.00
59	Unclassified Structure Excavation at Station 13+26.30 -L-	1.00	LS	\$5,000.00	\$5,000.00	\$3,400.00	\$3,400.00	\$3,500.00	\$3,500.00
60	Class A Concrete (Bridge)	45.20	CY	\$780.00	\$35,256.00	\$835.00	\$37,742.00	\$842.27	\$38,070.60
61	Bridge Approach Slabs, Station 13+26.30 -L-	1.00	LS	\$17,500.00	\$17,500.00	\$18,600.00	\$18,600.00	\$22,525.00	\$22,525.00
62	Reinforcing Steel (Bridge)	5,490.00	LB	\$1.10	\$6,039.00	\$1.50	\$8,235.00	\$1.27	\$6,972.30
0.5	Pile Driving Equipment Setup for HP 12x53 Steel Piles	10.00	EA	\$400.00	\$4,000.00	\$200.00	\$2,000.00	\$498.10	\$4,981.00
64	HP 12x53 Steel Piles	375.00	LF	\$30.00	\$11,250.00	\$35.00	\$13,125.00	\$30.68	\$11,505.00
65	Vertical Concrete Barrier	120.00	LF	\$105.00	\$12,600.00	\$125.00	\$15,000.00	\$127.06	\$15,247.20
66	Rip Rap Class II (2'-0" Thick)	165.00	TON	\$55.00	\$9,075.00	\$44.00	\$7,260.00	\$40.00	\$6,600.00
	Geotextile for Drainage	184.00	SY	\$2.50 Bid Tab	\$460.00	\$2.50	\$460.00	\$2.00	\$368.00 Page 2 of 15

Page 2 of 15

						THOMPS	ON ARTHUR		
				EASTERN ST	TRUCTURES LLC	DIV	ISION	SMITH-R	OWE, LLC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE AMOUNT BID		UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
68	Elastomeric Bearings	1.00	LS	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$1,800.00	\$1,800.00
69	3'-0" x 2'-0" Prestressed Concrete Cored Slabs	600.00	LF	\$148.00	\$88,800.00	\$150.00	\$90,000.00	\$148.92	\$89,352.00
					\$426,090.00		\$447,779.00		\$462,064.35

ARTHUR DIVISION

Bidder No. 3: SMITH-ROWE, LLC

Bidder No. 4: S T WOOTEN CORPORATION

Bidder No. 5: DELLINGER INC

Bidder No. 6: R. E. BURNS & SONS CO., INC.

Bidder No. 7: APPLE TUCK & ASSOCIATES INC

Bidder No. 8: S & C CONSTRUCTION LLC

Bidder No. 9: DANE CONSTRUCTION INC

Bidder No. 10: SANFORD CONTRACTORS INC

Bid_Tab Page 3 of 15

Contract No:DH00316

WBS No:17BP.8.R.138

County:Richmond

Replacement of Bridge No. 760007 on SR 1608 (Boyd Lake Rd.)

					CORPORATION		IGER INC		& SONS CO., INC.
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$23,800.00	\$23,800.00	\$24,000.00	\$24,000.00	ŕ	•
2	Type II Modified Approach Fill, Sta 13+26.30 -L-	1.00	LS	\$8,700.00	\$8,700.00	\$7,000.00	\$7,000.00	\$7,000.00	\$7,000.00
3	Grading	1.00	LS	\$45,900.00	\$45,900.00	\$74,000.00	\$74,000.00	\$74,000.00	\$74,000.00
4	Supplemental Clearing & Grubbing	1.00	ACR	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
5	Geotextile for Soil Stabilization	300.00	SY	\$1.00	\$300.00	\$1.00	\$300.00	\$1.00	\$300.00
6	Foundation Conditioning Material, Minor Structures	10.00	TON	\$47.00	\$470.00	\$1.00	\$10.00	\$1.00	\$10.00
7	Foundation Conditioning Geotextile	20.00	SY	\$5.00	\$100.00	\$1.00	\$20.00	\$1.00	\$20.00
8	15" RC Pipe Culverts, III	32.00	LF	\$180.00	\$5,760.00	\$50.00	\$1,600.00	\$50.00	\$1,600.00
9	Shallow Undercut	100.00	CY	\$5.00	\$500.00	\$16.00	\$1,600.00	\$16.00	\$1,600.00
10	Class IV Subgrade Stabilization	190.00	TON	\$7.00	\$1,330.00	\$35.00	\$6,650.00	\$35.00	\$6,650.00
11	Incidental Stone Base	25.00	TON	\$35.00	\$875.00	\$35.00	\$875.00	\$35.00	\$875.00
12	Incidental Milling	180.00	SY	\$19.00	\$3,420.00	\$8.00	\$1,440.00	\$8.00	\$1,440.00
13	Asphalt Conc Base Course, Type B25.0C	200.00	TON	\$87.00	\$17,400.00	\$87.00	\$17,400.00	\$87.00	\$17,400.00
14	Asphalt Conc Intermediate Course Type I19.0C	190.00	TON	\$89.00	\$16,910.00	\$89.00	\$16,910.00	\$89.00	\$16,910.00
15	Asphalt Conc Surface Course Type S9.5B	200.00	TON	\$129.00	\$25,800.00	\$129.00	\$25,800.00	\$129.00	\$25,800.00
16	Asphalt Binder For Plant Mix	30.00	TON	\$1.00	\$30.00	\$1.00	\$30.00	\$1.00	\$30.00
17	Right-of-Way Markers	9.00	EA	\$350.00	\$3,150.00	\$250.00	\$2,250.00	\$200.00	\$1,800.00
18	Masonary Drainage Structures	2.00	EA	\$3,400.00	\$6,800.00	\$1,600.00	\$3,200.00	\$1,600.00	\$3,200.00
19	Frame with Two Grates, Std 840.29	2.00	EA	\$630.00	\$1,260.00	\$425.00	\$850.00	\$425.00	\$850.00
20	Shoulder Berm Gutter	56.00	LF	\$52.00	\$2,912.00	\$60.00	\$3,360.00	\$65.00	\$3,640.00
21	Steel Beam Guardrail	25.00	LF	\$17.00	\$425.00	\$15.00	\$375.00	\$14.50	\$362.50
22	Additional Guardrail Posts	5.00	EA	\$30.00	\$150.00	\$11.00	\$55.00	\$1.00	\$5.00
23	Guardrail Anchors, Type III	4.00	EA	\$1,850.00	\$7,400.00	\$1,500.00	\$6,000.00	\$1,825.00	\$7,300.00
24	Guardrail Anchors, Type GREU TL-3	4.00	EA	\$2,800.00	\$11,200.00	\$2,700.00	\$10,800.00	\$2,700.00	\$10,800.00
25	Rip Rap, Class II	10.00	TON	\$106.00	\$1,060.00	\$60.00	\$600.00	\$60.00	\$600.00
26	Rip Rap, Class B	5.00	TON	\$103.00	\$515.00	\$75.00	\$375.00	\$75.00	\$375.00
27	Geotextile for Drainage	200.00	SY	\$1.00	\$200.00	\$2.00	\$400.00	\$2.00	\$400.00
28	Temporary Traffic Control	1.00	LS	\$3,500.00	\$3,500.00	\$3,480.00	\$3,480.00	\$3,900.00	\$3,900.00
29	Paint Pavement Marking Lines (4")	5,000.00	LF	\$0.75	\$3,750.00	\$1.00	\$5,000.00	\$0.75	\$3,750.00
30	Permanent Raised Pavement Markers	8.00	EA	Bid_Tab\$10.00	\$80.00	\$25.00	\$200.00	\$10.00	Page 4 of 15\$80.00

				S T WOOTEN CORPORATION		DELLINGER INC		R. E. BURNS & SONS CO., INC.	
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID		AMOUNT BID
31	Temporary Silt Fence	695.00	LF	\$2.50	\$1,737.50	\$2.00	\$1,390.00	\$2.00	\$1,390.00
32	Stone for Erosion Control, Class A	60.00	TON	\$25.00	\$1,500.00	\$1.00	\$60.00	\$1.00	\$60.00
33	Stone for Erosion Control, Class B	400.00	TON	\$25.00	\$10,000.00	\$1.00	\$400.00	\$1.00	\$400.00
34	Sediment Control Stone	125.00	TON	\$25.00	\$3,125.00	\$1.00	\$125.00	\$1.00	\$125.00
35	Temporary Mulching	0.50	ACR	\$3,000.00	\$1,500.00	\$200.00	\$100.00	\$200.00	\$100.00
36	Seed for Temporary Seeding	100.00	LB	\$3.00	\$300.00	\$1.70	\$170.00	\$1.70	\$170.00
37	Fertilizer for Temporary Seeding	0.50	TON	\$1,300.00	\$650.00	\$400.00	\$200.00	\$400.00	\$200.00
38	Temporary Slope Drains	200.00	LF	\$5.00	\$1,000.00	\$5.00	\$1,000.00	\$5.00	\$1,000.00
39	Safety Fence	200.00	LF	\$2.00	\$400.00	\$2.00	\$400.00	\$2.00	\$400.00
40	Silt Excavation	310.00	CY	\$5.00	\$1,550.00	\$7.00	\$2,170.00	\$3.00	\$930.00
41	Matting for Erosion Control	2,550.00	SY	\$1.85	\$4,717.50	\$1.00	\$2,550.00	\$1.00	\$2,550.00
42	Coir Fiber Mat	100.00	SY	\$5.00	\$500.00	\$3.50	\$350.00	\$3.50	\$350.00
43	1/4" Hardware Cloth	120.00	LF	\$4.75	\$570.00	\$2.25	\$270.00	\$2.25	\$270.00
44	Floating Turbidity Curtain	125.00	SY	\$30.00	\$3,750.00	\$4.00	\$500.00	\$4.00	\$500.00
45	Wattle	80.00	LF	\$10.00	\$800.00	\$6.00	\$480.00	\$6.00	\$480.00
46	Polycrylamide (PAM)	65.00	LB	\$20.00	\$1,300.00	\$1.00	\$65.00	\$1.00	\$65.00
47	Seeding & Mulching	0.50	ACR	\$4,000.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$2,000.00
48	Mowing	0.50	ACR	\$400.00	\$200.00	\$75.00	\$37.50	\$10.00	\$5.00
49	Seed for Repair Seeding	50.00	LB	\$12.00	\$600.00	\$1.70	\$85.00	\$1.70	\$85.00
50	Fertilizer for Repair Seeding	0.25	TON	\$1,300.00	\$325.00	\$400.00	\$100.00	\$400.00	\$100.00
51	Seed for Supplemental Seeding	50.00	LB	\$12.00	\$600.00	\$1.00	\$50.00	\$1.00	\$50.00
52	Fertilizer Topdressing	0.50	TON	\$1,300.00	\$650.00	\$400.00	\$200.00	\$400.00	\$200.00
53	Specialized Hand Mowing	10.00	MHR	\$90.00	\$900.00	\$11.00	\$110.00	\$1.00	\$10.00
54	Response for Erosion Control	9.00	EA	\$425.00	\$3,825.00	\$1.00	\$9.00	\$1.00	\$9.00
55	Concrete Washout Structure	2.00	EA	\$1,000.00	\$2,000.00	\$400.00	\$800.00	\$400.00	\$800.00
56	Removal of Existing Structure at Station 13+26.30 - L-	1.00	LS	\$24,400.00	\$24,400.00	\$7,000.00	\$7,000.00	\$20,000.00	\$20,000.00
57	Asbestos Assessment	1.00	LS	\$750.00	\$750.00	\$950.00	\$950.00	\$2,000.00	\$2,000.00
58	PDA Testing	1.00	EA	\$3,500.00	\$3,500.00	\$2,206.00	\$2,206.00	\$2,700.00	\$2,700.00
59	Unclassified Structure Excavation at Station 13+26.30 -L-	1.00	LS	\$10,000.00	\$10,000.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00
60	Class A Concrete (Bridge)	45.20	CY	\$785.00	\$35,482.00	\$1,000.00	\$45,200.00	\$1,000.00	\$45,200.00
	Bridge Approach Slabs, Station 13+26.30 -L-	1.00	LS	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00	\$22,000.00	\$22,000.00
62	Reinforcing Steel (Bridge)	5,490.00	LB	\$1.00	\$5,490.00	\$1.00	\$5,490.00	\$2.00	\$10,980.00
0.5	Pile Driving Equipment Setup for HP 12x53 Steel Piles	10.00	EA	\$945.00	\$9,450.00	\$1,500.00	\$15,000.00	\$1,100.00	\$11,000.00
64	HP 12x53 Steel Piles	375.00	LF	\$39.00	\$14,625.00	\$30.00	\$11,250.00	\$40.00	\$15,000.00
65	Vertical Concrete Barrier	120.00	LF	\$151.00	\$18,120.00	\$150.00	\$18,000.00	\$170.00	\$20,400.00
66	Rip Rap Class II (2'-0" Thick)	165.00	TON	\$60.00	\$9,900.00	\$40.00	\$6,600.00	\$40.00	\$6,600.00
	Geotextile for Drainage	184.00	SY	\$1.00	\$184.00	\$2.00	\$368.00	\$2.00	\$368.00

Page 5 of 15

				S T WOOTEN	CORPORATION	DELLI	NGER INC	R. E. BURNS &	& SONS CO., INC.
ITE	I NO ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
(8 Elastomeric Bearings	1.00	LS	\$2,000.00	\$2,000.00	\$3,233.50	\$3,233.50	\$4,000.00	\$4,000.00
(9 3'-0" x 2'-0" Prestressed Concrete Cored Slabs	600.00	LF	\$137.00	\$82,200.00	\$195.00	\$117,000.00	\$179.00	\$107,400.00
<u>-</u>				-	\$479,299.00		\$484,000.00		\$499,595.50

ARTHUR DIVISION

Bidder No. 3: SMITH-ROWE, LLC

Bidder No. 4: S T WOOTEN CORPORATION

Bidder No. 5: DELLINGER INC

Bidder No. 6: R. E. BURNS & SONS CO., INC.

Bidder No. 7: APPLE TUCK & ASSOCIATES INC

Bidder No. 8: S & C CONSTRUCTION LLC

Bidder No. 9: DANE CONSTRUCTION INC

Bidder No. 10: SANFORD CONTRACTORS INC

Bid_Tab Page 6 of 15

Contract No:DH00316

WBS No:17BP.8.R.138

County:Richmond

Replacement of Bridge No. 760007 on SR 1608 (Boyd Lake Rd.)

			APPLE TUCK & ASSOCIATES		+				
				I	NC	S & C CONST	TRUCTION LLC	DANE CONS	STRUCTION INC
ITEM NO.		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$70,000.00	\$70,000.00	\$25,459.00	\$25,459.00	-	\$26,650.00
2	Type II Modified Approach Fill, Sta 13+26.30 -L-	1.00	LS	\$7,000.00	\$7,000.00	\$10,450.00	\$10,450.00	\$8,100.00	\$8,100.00
3	Grading	1.00	LS	\$74,000.00	\$74,000.00	\$55,000.00	\$55,000.00	\$71,000.00	\$71,000.00
4	Supplemental Clearing & Grubbing	1.00	ACR	\$1.00	\$1.00	\$1.10	\$1.10	\$10.00	\$10.00
5	Geotextile for Soil Stabilization	300.00	SY	\$1.00	\$300.00	\$1.10	\$330.00	\$2.25	\$675.00
6	Foundation Conditioning Material, Minor Structures	10.00	TON	\$1.00	\$10.00	\$35.20	\$352.00	\$5.00	\$50.00
7	Foundation Conditioning Geotextile	20.00	SY	\$1.00	\$20.00	\$1.10	\$22.00	\$2.25	\$45.00
8	15" RC Pipe Culverts, III	32.00	LF	\$50.00	\$1,600.00	\$39.60	\$1,267.20	\$30.00	\$960.00
9	Shallow Undercut	100.00	CY	\$16.00	\$1,600.00	\$11.00	\$1,100.00	\$5.00	\$500.00
10	Class IV Subgrade Stabilization	190.00	TON	\$35.00	\$6,650.00	\$27.50	\$5,225.00	\$7.00	\$1,330.00
11	Incidental Stone Base	25.00	TON	\$35.00	\$875.00	\$27.50	\$687.50	\$50.00	\$1,250.00
12	Incidental Milling	180.00	SY	\$8.00	\$1,440.00	\$18.70	\$3,366.00	\$30.00	\$5,400.00
13	Asphalt Conc Base Course, Type B25.0C	200.00	TON	\$87.00	\$17,400.00	\$101.75	\$20,350.00	\$87.00	\$17,400.00
14	Asphalt Conc Intermediate Course Type I19.0C	190.00	TON	\$89.00	\$16,910.00	\$101.75	\$19,332.50	\$89.00	\$16,910.00
15	Asphalt Conc Surface Course Type S9.5B	200.00	TON	\$129.00	\$25,800.00	\$150.70	\$30,140.00	\$129.00	\$25,800.00
16	Asphalt Binder For Plant Mix	30.00	TON	\$1.00	\$30.00	\$519.20	\$15,576.00	\$1.00	\$30.00
17	Right-of-Way Markers	9.00	EA	\$250.00	\$2,250.00	\$275.00	\$2,475.00	\$300.00	\$2,700.00
18	Masonary Drainage Structures	2.00	EA	\$1,600.00	\$3,200.00	\$1,320.00	\$2,640.00	\$2,000.00	\$4,000.00
19	Frame with Two Grates, Std 840.29	2.00	EA	\$425.00	\$850.00	\$550.00	\$1,100.00	\$575.00	\$1,150.00
20	Shoulder Berm Gutter	56.00	LF	\$25.00	\$1,400.00	\$38.50	\$2,156.00	\$35.00	\$1,960.00
21	Steel Beam Guardrail	25.00	LF	\$15.00	\$375.00	\$16.50	\$412.50	\$14.50	\$362.50
22	Additional Guardrail Posts	5.00	EA	\$11.00	\$55.00	\$12.10	\$60.50	\$1.00	\$5.00
23	Guardrail Anchors, Type III	4.00	EA	\$1,500.00	\$6,000.00	\$1,650.00	\$6,600.00	\$2,700.00	\$10,800.00
24	Guardrail Anchors, Type GREU TL-3	4.00	EA	\$2,700.00	\$10,800.00	\$2,970.00	\$11,880.00	\$1,700.00	\$6,800.00
25	Rip Rap, Class II	10.00	TON	\$60.00	\$600.00	\$57.20	\$572.00	\$75.00	\$750.00
26	Rip Rap, Class B	5.00	TON	\$75.00	\$375.00	\$55.00	\$275.00	\$75.00	\$375.00
27	Geotextile for Drainage	200.00	SY	\$2.00	\$400.00	\$1.65	\$330.00	\$2.25	\$450.00
28	Temporary Traffic Control	1.00	LS	\$3,180.00	\$3,180.00	\$8,580.00	\$8,580.00	\$5,800.00	\$5,800.00
29	Paint Pavement Marking Lines (4")	5,000.00	LF	\$0.75	\$3,750.00	\$0.66	\$3,300.00	\$1.00	\$5,000.00
30	Permanent Raised Pavement Markers	8.00	EA	_{Bid Tab} \$10.00	\$80.00	\$22.00	\$176.00	\$20.00	Page 7 of 1\\$160.00

					& ASSOCIATES				
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	INC AMOUNT BID	S & C CONST	RUCTION LLC AMOUNT BID	UNIT PRICE	TRUCTION INC AMOUNT BID
31	Temporary Silt Fence	695.00	LF	\$2.00		\$2.75	\$1,911.25	\$2.95	\$2,050.25
	Stone for Erosion Control, Class A	60.00	TON	\$1.00	- ´	\$1.10	\$66.00	\$5.00	\$300.00
	Stone for Erosion Control, Class B	400.00	TON	\$1.00		\$1.10	\$440.00	·	\$2,000.00
	Sediment Control Stone	125.00	TON	\$1.00		\$1.10	\$1,375.00	·	·
35	Temporary Mulching	0.50	ACR	\$200.00		\$550.00	\$275.00	·	·
	Seed for Temporary Seeding	100.00	LB	\$1.70		\$5.50	\$550.00	ŕ	\$500.00
	Fertilizer for Temporary Seeding	0.50	TON	\$400.00		\$550.00	\$275.00	·	
38	Temporary Slope Drains	200.00	LF	\$5.00	· · · · · · · · · · · · · · · · · · ·	\$5.50	\$1,100.00	ŕ	
	Safety Fence	200.00	LF	\$2.00	- ´	\$2.20	\$440.00		
	Silt Excavation	310.00	CY	\$7.00			\$341.00	·	\$387.50
	Matting for Erosion Control	2,550.00	SY	\$1.00	- ´	\$2.75	\$7,012.50		\$5,737.50
	Coir Fiber Mat	100.00	SY	\$3.50	· · · · · · · · · · · · · · · · · · ·	\$7.70	\$770.00		\$420.00
	1/4" Hardware Cloth	120.00	LF	\$2.25		\$5.50	\$660.00		
	Floating Turbidity Curtain	125.00	SY	\$4.00		\$27.50	\$3,437.50	·	
	Wattle	80.00	LF	\$6.00		\$5.50	\$440.00		\$540.00
	Polycrylamide (PAM)	65.00	LB	\$1.00		\$11.00	\$715.00	·	
	Seeding & Mulching	0.50	ACR	\$4,000.00		\$2,750.00	\$1,375.00		. ,
	Mowing	0.50	ACR	\$75.00	. ,	\$1.10	\$0.55	,	
	Seed for Repair Seeding	50.00	LB	\$1.70		\$5.50	\$275.00		
	Fertilizer for Repair Seeding	0.25	TON	\$400.00					
	Seed for Supplemental Seeding	50.00	LB	\$1.00	·	\$5.50	\$275.00	ŕ	
	Fertilizer Topdressing	0.50	TON	\$400.00	·		\$275.00		
	Specialized Hand Mowing	10.00	MHR	\$11.00	·		\$11.00	,	
	Response for Erosion Control	9.00	EA	\$1.00			\$14,850.00		\$450.00
	Concrete Washout Structure	2.00	EA	\$400.00		\$1,100.00	\$2,200.00		\$500.00
56	Removal of Existing Structure at Station 13+26.30 - L-	1.00	LS	\$7,000.00	\$7,000.00	\$27,500.00	\$27,500.00		\$46,462.00
57	Asbestos Assessment	1.00	LS	\$950.00	\$950.00	\$1,100.00	\$1,100.00	\$1,250.00	\$1,250.00
58	PDA Testing	1.00	EA	\$5,000.00	\$5,000.00	\$3,850.00	\$3,850.00	\$1,750.00	\$1,750.00
59	Unclassified Structure Excavation at Station 13+26.30 -L-	1.00	LS	\$3,500.00	\$3,500.00	\$11,000.00	\$11,000.00	\$10,000.00	\$10,000.00
60	Class A Concrete (Bridge)	45.20	CY	\$1,000.00	\$45,200.00	\$935.00	\$42,262.00	\$1,000.00	\$45,200.00
61	Bridge Approach Slabs, Station 13+26.30 -L-	1.00	LS	\$10,000.00	\$10,000.00	\$22,550.00	\$22,550.00	\$18,000.00	\$18,000.00
62	Reinforcing Steel (Bridge)	5,490.00	LB	\$1.70	\$9,333.00	\$1.38	\$7,576.20	\$1.35	\$7,411.50
0.3	Pile Driving Equipment Setup for HP 12x53 Steel Piles	10.00	EA	\$1,000.00	\$10,000.00	\$1,760.00	\$17,600.00	\$1,000.00	\$10,000.00
64	HP 12x53 Steel Piles	375.00	LF	\$40.00	\$15,000.00	\$33.00	\$12,375.00	\$25.00	\$9,375.00
65	Vertical Concrete Barrier	120.00	LF	\$100.00	\$12,000.00	\$134.20	\$16,104.00	\$170.00	\$20,400.00
66	Rip Rap Class II (2'-0" Thick)	165.00	TON	\$40.00	\$6,600.00	\$60.50	\$9,982.50	\$65.00	\$10,725.00
	Geotextile for Drainage	184.00	SY	\$2.00	\$368.00	\$2.20	\$404.80	\$6.50	·

Page 8 of 15

				APPLE TUCK	& ASSOCIATES			ı	
					NC	S & C CONST	ΓRUCTION LLC	DANE CONS	TRUCTION INC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE AMOUNT BID		UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
68	Elastomeric Bearings	1.00	LS	\$5,000.00	\$5,000.00	\$2,200.00	\$2,200.00	\$7,500.00	\$7,500.00
69	3'-0" x 2'-0" Prestressed Concrete Cored Slabs	600.00	LF	\$177.14	\$106,284.00	\$152.90	\$91,740.00	\$175.00	\$105,000.00
				-	\$506,807.50		\$534,667.10		\$535,062.25

ARTHUR DIVISION

Bidder No. 3: SMITH-ROWE, LLC

Bidder No. 4: S T WOOTEN CORPORATION

Bidder No. 5: DELLINGER INC

Bidder No. 6: R. E. BURNS & SONS CO., INC.

Bidder No. 7: APPLE TUCK & ASSOCIATES INC

Bidder No. 8: S & C CONSTRUCTION LLC

Bidder No. 9: DANE CONSTRUCTION INC

Bidder No. 10: SANFORD CONTRACTORS INC

Bid_Tab Page 9 of 15

Contract No:DH00316

WBS No:17BP.8.R.138

County:Richmond

Replacement of Bridge No. 760007 on SR 1608 (Boyd Lake Rd.)

							ON OF REEVES	PALM	
TEM NO	ITEM	OHANTITY	LIMITO		NTRACTORS INC		RUCTION CO	INFRASTRU	
ITEM NO.	Mobilization	1.00	UNITS LS	UNIT PRICE \$28,050.00	\$28,050.00		AMOUNT BID \$28,000.00		AMOUNT BID \$40,000.00
2	Type II Modified Approach Fill, Sta 13+26.30 -L-	1.00	LS	\$7,000.00	\$7,000.00		,	, ,	\$7,500.00
<u> </u>	Type II Wodined Approach Fill, Sta 15+20.50 -L-	1.00	LS	\$7,000.00	\$7,000.00	\$13,000.00	\$13,000.00	\$7,500.00	\$7,500.00
3	Grading	1.00	LS	\$74,000.00	\$74,000.00	\$76,400.00	,	\$52,640.00	\$52,640.00
4	Supplemental Clearing & Grubbing	1.00	ACR	\$1.00	\$1.00		\$1.00	\$1,000.00	\$1,000.00
5	Geotextile for Soil Stabilization	300.00	SY	\$1.00	\$300.00	\$1.75	\$525.00	\$4.50	\$1,350.00
6	Foundation Conditioning Material, Minor Structures	10.00	TON	\$1.00	\$10.00	\$34.00	\$340.00	\$75.00	\$750.00
7	Foundation Conditioning Geotextile	20.00	SY	\$1.00	\$20.00	\$1.75	\$35.00	\$5.00	\$100.00
8	15" RC Pipe Culverts, III	32.00	LF	\$50.00	\$1,600.00	\$35.00	\$1,120.00	\$85.00	\$2,720.00
9	Shallow Undercut	100.00	CY	\$16.00	\$1,600.00	\$26.00	\$2,600.00	\$45.00	\$4,500.00
10	Class IV Subgrade Stabilization	190.00	TON	\$35.00	\$6,650.00	\$26.00	\$4,940.00	\$45.00	\$8,550.00
11	Incidental Stone Base	25.00	TON	\$35.00	\$875.00	\$55.00	\$1,375.00	\$65.00	\$1,625.00
12	Incidental Milling	180.00	SY	\$8.00	\$1,440.00	\$19.00	\$3,420.00	\$55.00	\$9,900.00
13	Asphalt Conc Base Course, Type B25.0C	200.00	TON	\$87.00	\$17,400.00	\$87.00	\$17,400.00	\$87.00	\$17,400.00
14	Asphalt Conc Intermediate Course Type I19.0C	190.00	TON	\$89.00	\$16,910.00	\$89.00	\$16,910.00	\$89.00	\$16,910.00
15	Asphalt Conc Surface Course Type S9.5B	200.00	TON	\$129.00	\$25,800.00	\$129.00	\$25,800.00	\$129.00	\$25,800.00
16	Asphalt Binder For Plant Mix	30.00	TON	\$1.00	\$30.00	\$1.00	\$30.00	\$1.00	\$30.00
17	Right-of-Way Markers	9.00	EA	\$150.00	\$1,350.00	\$300.00	\$2,700.00	\$150.00	\$1,350.00
18	Masonary Drainage Structures	2.00	EA	\$1,600.00	\$3,200.00	\$760.00	\$1,520.00	\$1,250.00	\$2,500.00
19	Frame with Two Grates, Std 840.29	2.00	EA	\$425.00	\$850.00	\$415.00	\$830.00	\$1,000.00	\$2,000.00
20	Shoulder Berm Gutter	56.00	LF	\$127.00	\$7,112.00	\$70.00	\$3,920.00	\$65.00	\$3,640.00
21	Steel Beam Guardrail	25.00	LF	\$15.00	\$375.00	\$17.00	\$425.00	\$17.00	\$425.00
22	Additional Guardrail Posts	5.00	EA	\$11.00	\$55.00	\$30.00	\$150.00	\$30.00	\$150.00
23	Guardrail Anchors, Type III	4.00	EA	\$1,500.00	\$6,000.00	\$1,850.00	\$7,400.00	\$1,850.00	\$7,400.00
24	Guardrail Anchors, Type GREU TL-3	4.00	EA	\$2,700.00	\$10,800.00	\$2,800.00	\$11,200.00	\$2,800.00	\$11,200.00
25	Rip Rap, Class II	10.00	TON	\$60.00	\$600.00	\$68.00	\$680.00	\$200.00	\$2,000.00
26	Rip Rap, Class B	5.00	TON	\$75.00	\$375.00	\$36.00	\$180.00	\$250.00	\$1,250.00
27	Geotextile for Drainage	200.00	SY	\$2.00	\$400.00	\$1.75	\$350.00	\$4.00	\$800.00
28	Temporary Traffic Control	1.00	LS	\$5,800.00	\$5,800.00	\$15,000.00	\$15,000.00	\$5,800.00	\$5,800.00
29	Paint Pavement Marking Lines (4")	5,000.00	LF	\$0.75	\$3,750.00	\$0.50	\$2,500.00	\$1.00	\$5,000.00
30	Permanent Raised Pavement Markers	8.00	EA	Bid T\$10.00	\$80.00	\$20.00	\$160.00	\$20,00	10 of 15 \$160.00

				SANEODD CON	NTRACTORS INC		ON OF REEVES TRUCTION CO	PALM INFRASTRU	
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID		AMOUNT BID	UNIT PRICE	AMOUNT BID
	Temporary Silt Fence	695.00	LF	\$2.00	\$1,390.00	-	\$2,780.00	\$3.00	\$2,085.00
	Stone for Erosion Control, Class A	60.00	TON	\$1.00	\$60.00		· · ·	·	\$4,200.00
	Stone for Erosion Control, Class B	400.00	TON	\$1.00	\$400.00	 	· ·		\$28,000.00
	Sediment Control Stone	125.00	TON	\$1.00	\$125.00	 	· · ·		· ·
35	Temporary Mulching	0.50	ACR	\$200.00	\$100.00	 	· · ·		·
	Seed for Temporary Seeding	100.00	LB	\$1.70	\$170.00	· .	,	· ·	· ·
	Fertilizer for Temporary Seeding	0.50	TON	\$400.00	\$200.00	<u> </u>		·	· ·
38	Temporary Slope Drains	200.00	LF	\$5.00	\$1,000.00	<u> </u>	\$2,700.00	\$16.00	\$3,200.00
	Safety Fence	200.00	LF	\$2.00	\$400.00	+	·		·
	Silt Excavation	310.00	CY	\$7.00	\$2,170.00	+	\$4,340.00	\$24.00	\$7,440.00
	Matting for Erosion Control	2,550.00	SY	\$1.00	\$2,550.00	-	. ,		
	Coir Fiber Mat	100.00	SY	\$3.50	\$350.00		· · ·		·
	1/4" Hardware Cloth	120.00	LF	\$2.25	\$270.00	.		·	\$1,440.00
	Floating Turbidity Curtain	125.00	SY	\$4.00	\$500.00	\$47.00	\$5,875.00	\$27.00	\$3,375.00
	Wattle	80.00	LF	\$6.00	\$480.00	\$15.00	\$1,200.00	\$15.00	\$1,200.00
46	Polycrylamide (PAM)	65.00	LB	\$1.00	\$65.00	\$15.00	\$975.00	\$16.00	\$1,040.00
	Seeding & Mulching	0.50	ACR	\$4,000.00	\$2,000.00	\$4,000.00	\$2,000.00	\$3,800.00	\$1,900.00
	Mowing	0.50	ACR	\$75.00	\$37.50	\$1,500.00	\$750.00	\$500.00	\$250.00
	Seed for Repair Seeding	50.00	LB	\$1.70	\$85.00	\$20.00	\$1,000.00	\$15.00	\$750.00
	Fertilizer for Repair Seeding	0.25	TON	\$400.00	\$100.00	\$1,000.00	\$250.00	\$2,600.00	\$650.00
	Seed for Supplemental Seeding	50.00	LB	\$1.00	\$50.00	\$20.00	\$1,000.00	\$9.00	\$450.00
52	Fertilizer Topdressing	0.50	TON	\$400.00	\$200.00	\$1,500.00	\$750.00	\$2,600.00	\$1,300.00
	Specialized Hand Mowing	10.00	MHR	\$11.00	\$110.00	\$100.00	\$1,000.00	\$45.00	\$450.00
54	Response for Erosion Control	9.00	EA	\$1.00	\$9.00	\$50.00	\$450.00	\$500.00	\$4,500.00
55	Concrete Washout Structure	2.00	EA	\$400.00	\$800.00	\$630.00	\$1,260.00	\$1,500.00	\$3,000.00
56	Removal of Existing Structure at Station 13+26.30 - L-	1.00	LS	\$12,000.00	\$12,000.00	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00
57	Asbestos Assessment	1.00	LS	\$950.00	\$950.00	\$950.00	\$950.00	\$2,000.00	\$2,000.00
58	PDA Testing	1.00	EA	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00
59	Unclassified Structure Excavation at Station 13+26.30 -L-	1.00	LS	\$3,500.00	\$3,500.00	\$10,000.00			\$7,500.00
60	Class A Concrete (Bridge)	45.20	CY	\$1,450.00	\$65,540.00	\$1,100.00	\$49,720.00	\$1,000.00	\$45,200.00
61	Bridge Approach Slabs, Station 13+26.30 -L-	1.00	LS	\$47,782.50	\$47,782.50	\$26,500.00	\$26,500.00	\$20,000.00	\$20,000.00
62	Reinforcing Steel (Bridge)	5,490.00	LB	\$1.00	\$5,490.00	\$1.10	\$6,039.00	\$1.50	\$8,235.00
0.5	Pile Driving Equipment Setup for HP 12x53 Steel Piles	10.00	EA	\$1,800.00	\$18,000.00	\$500.00	\$5,000.00	\$3,000.00	\$30,000.00
64	HP 12x53 Steel Piles	375.00	LF	\$24.04	\$9,015.00	\$45.00	\$16,875.00	\$45.00	\$16,875.00
65	Vertical Concrete Barrier	120.00	LF	\$360.00	\$43,200.00	\$220.00	\$26,400.00	\$120.00	\$14,400.00
66	Rip Rap Class II (2'-0" Thick)	165.00	TON	\$40.00	\$6,600.00	\$68.00	\$11,220.00	\$70.00	\$11,550.00
67	Geotextile for Drainage	184.00	SY	\$2.00	\$368.00	\$1.75	\$322.00	\$4.50	\$828.00

Page 11 of 15

						DIVISION OF REEVES		PALM	ETTO
				SANFORD CON	NTRACTORS INC	CONST	TRUCTION CO	INFRASTRU	ICTURE INC
ITEM NO					AMOUNT BID	UNIT PRICE	UNIT PRICE AMOUNT BID U		AMOUNT BID
68	Elastomeric Bearings	1.00	LS	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$7,500.00	\$7,500.00
69	3'-0" x 2'-0" Prestressed Concrete Cored Slabs	600.00	LF	\$180.00	\$108,000.00	\$155.00	\$93,000.00	\$190.00	\$114,000.00
				_	\$561,000.00		\$574,924.50		\$650,030.50

ARTHUR DIVISION

Bidder No. 3: SMITH-ROWE, LLC

Bidder No. 4: S T WOOTEN CORPORATION

Bidder No. 5: DELLINGER INC

Bidder No. 6: R. E. BURNS & SONS CO., INC.

Bidder No. 7: APPLE TUCK & ASSOCIATES INC

Bidder No. 8: S & C CONSTRUCTION LLC

Bidder No. 9: DANE CONSTRUCTION INC

Bidder No. 10: SANFORD CONTRACTORS INC

Bid_Tab Page 12 of 15

Contract No:DH00316

WBS No:17BP.8.R.138

County:Richmond

Replacement of Bridge No. 760007 on SR 1608 (Boyd Lake Rd.)

				CIVIL WORKS CONTRACTING	
				LLC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$37,542.91	·
2	Type II Modified Approach Fill, Sta 13+26.30 -L-	1.00	LS	\$22,000.00	\$22,000.00
3	Grading	1.00	LS	\$75,000.00	\$75,000.00
4	Supplemental Clearing & Grubbing	1.00	ACR	\$1.00	\$1.00
5	Geotextile for Soil Stabilization	300.00	SY	\$3.00	\$900.00
6	Foundation Conditioning Material, Minor Structures	10.00	TON	\$1.00	\$10.00
7	Foundation Conditioning Geotextile	20.00	SY	\$0.50	\$10.00
8	15" RC Pipe Culverts, III	32.00	LF	\$137.00	\$4,384.00
9	Shallow Undercut	100.00	CY	\$20.00	\$2,000.00
10	Class IV Subgrade Stabilization	190.00	TON	\$35.00	\$6,650.00
11	Incidental Stone Base	25.00	TON	\$35.00	\$875.00
12	Incidental Milling	180.00	SY	\$45.00	\$8,100.00
13	Asphalt Conc Base Course, Type B25.0C	200.00	TON	\$85.00	\$17,000.00
14	Asphalt Conc Intermediate Course Type I19.0C	190.00	TON	\$85.00	\$16,150.00
15	Asphalt Conc Surface Course Type S9.5B	200.00	TON	\$130.00	\$26,000.00
16	Asphalt Binder For Plant Mix	30.00	TON	\$422.00	\$12,660.00
17	Right-of-Way Markers	9.00	EA	\$100.00	\$900.00
18	Masonary Drainage Structures	2.00	EA	\$2,400.00	\$4,800.00
19	Frame with Two Grates, Std 840.29	2.00	EA	\$650.00	\$1,300.00
20	Shoulder Berm Gutter	56.00	LF	\$60.00	\$3,360.00
21	Steel Beam Guardrail	25.00	LF	\$18.00	\$450.00
22	Additional Guardrail Posts	5.00	EA	\$1.00	\$5.00
23	Guardrail Anchors, Type III	4.00	EA	\$2,100.00	\$8,400.00
24	Guardrail Anchors, Type GREU TL-3	4.00	EA	\$3,200.00	\$12,800.00
25	Rip Rap, Class II	10.00	TON	\$80.00	\$800.00
26	Rip Rap, Class B	5.00	TON	\$80.00	\$400.00
27	Geotextile for Drainage	200.00	SY	\$3.00	\$600.00
28	Temporary Traffic Control	1.00	LS	\$20,000.00	\$20,000.00
29	Paint Pavement Marking Lines (4")	5,000.00	LF	\$2.00	\$10,000.00
30	Permanent Raised Pavement Markers Bid Tab	8.00	EA	\$45.00	\$360.00

				CIVIL WORKS C	
ITEM NO	ITEM	QUANTITY	UNITS		AMOUNT BID
31	Temporary Silt Fence	695.00	LF	\$4.00	\$2,780.00
32	Stone for Erosion Control, Class A	60.00	TON	\$69.00	\$4,140.00
33	Stone for Erosion Control, Class B	400.00	TON	\$69.00	\$27,600.00
34	Sediment Control Stone	125.00	TON	\$67.00	\$8,375.00
35	Temporary Mulching	0.50	ACR	\$1,600.00	\$800.00
36	Seed for Temporary Seeding	100.00	LB	\$6.50	\$650.00
37	Fertilizer for Temporary Seeding	0.50	TON	\$1,600.00	\$800.00
38	Temporary Slope Drains	200.00	LF	\$2.00	\$400.00
39	Safety Fence	200.00	LF	\$2.00	\$400.00
40	Silt Excavation	310.00	CY	\$1.00	\$310.00
41	Matting for Erosion Control	2,550.00	SY	\$2.50	\$6,375.00
42	Coir Fiber Mat	100.00	SY	\$6.00	\$600.00
43	1/4" Hardware Cloth	120.00	LF	\$6.00	\$720.00
44	Floating Turbidity Curtain	125.00	SY	\$10.00	\$1,250.00
45	Wattle	80.00	LF	\$5.00	\$400.00
46	Polycrylamide (PAM)	65.00	LB	\$5.00	\$325.00
47	Seeding & Mulching	0.50	ACR	\$3,000.00	\$1,500.00
48	Mowing	0.50	ACR	\$10.00	\$5.00
49	Seed for Repair Seeding	50.00	LB	\$5.00	\$250.00
50	Fertilizer for Repair Seeding	0.25	TON	\$5.00	\$1.25
51	Seed for Supplemental Seeding	50.00	LB	\$5.00	\$250.00
52	Fertilizer Topdressing	0.50	TON	\$5.00	\$2.50
53	Specialized Hand Mowing	10.00	MHR	\$10.00	\$100.00
54	Response for Erosion Control	9.00	EA	\$1.00	\$9.00
55	Concrete Washout Structure	2.00	EA	\$400.00	\$800.00
56	Removal of Existing Structure at Station 13+26.30 - L-	1.00	LS	\$60,000.00	\$60,000.00
57	Asbestos Assessment	1.00	LS	\$1,800.00	\$1,800.00
58	PDA Testing	1.00	EA	\$5,000.00	\$5,000.00
59	Unclassified Structure Excavation at Station 13+26.30 -L-	1.00	LS	\$15,000.00	\$15,000.00
60	Class A Concrete (Bridge)	45.20	CY	\$1,000.00	\$45,200.00
61	Bridge Approach Slabs, Station 13+26.30 -L-	1.00	LS	\$45,200.00	\$45,200.00
62	Reinforcing Steel (Bridge)	5,490.00	LB	\$1.50	\$8,235.00
63	Pile Driving Equipment Setup for HP 12x53 Steel Piles	10.00	EA	\$2,000.00	\$20,000.00
64	HP 12x53 Steel Piles	375.00	LF	\$66.00	\$24,750.00
65	Vertical Concrete Barrier	120.00	LF	\$300.00	\$36,000.00
66	Rip Rap Class II (2'-0" Thick)	165.00	TON	\$98.79	\$16,300.35
67	Geotextile for Drainage	184.00	SY	\$6.50	\$1,196.00

				CIVIL WORKS (CONTRACTING	
				LLC		
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	
68	Elastomeric Bearings	1.00	LS	\$3,200.00	\$3,200.00	
69	3'-0" x 2'-0" Prestressed Concrete Cored Slabs	600.00	LF	\$220.00	\$132,000.00	

\$766,182.01

Bidder No. 1: EASTERN STRUCTURES LLC

ARTHUR DIVISION

Bidder No. 3: SMITH-ROWE, LLC

Bidder No. 4: S T WOOTEN CORPORATION

Bidder No. 5: DELLINGER INC

Bidder No. 6: R. E. BURNS & SONS CO., INC.

Bidder No. 7: APPLE TUCK & ASSOCIATES INC

Bidder No. 8: S & C CONSTRUCTION LLC

Bidder No. 9: DANE CONSTRUCTION INC

Bidder No. 10: SANFORD CONTRACTORS INC

Bid_Tab Page 15 of 15